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QUESTION 1

What tool should be used to transmit encrypted traffic between two VPCs in IBM Cloud that are each in a different
region? 

A. Secure Gateway for VPC 

B. Firewall1 for VPC 

C. VPN for VPC 

D. Hyper Protect for VPC 

Correct Answer: C 

Reference: https://cloud.ibm.com/docs/vpc?topic=vpc-using-vpn 

 

QUESTION 2

What is the initial response time for a severity 1 case under premium support? 

A. 1 hour 

B. 30 minutes 

C. 1.5 hour 

D. Less than 15 minutes 

Correct Answer: D 

Reference: https://cloud.ibm.com/docs/get-support?topic=get-support-support-case-severity 

 

QUESTION 3

An organization uses Apache Kafka on-premise and has applications that use KSQL to aggregate information. They are
willing to move the service to IBM Cloud as long as they do not need to rewrite their KSQL applications. What IBM
Cloud offering can the organization use? 

A. IBM App Connect 

B. IBM Event Streams 

C. IBM API Connect 

D. IBM MQ 

Correct Answer: B 
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QUESTION 4

What is a key Cloud Native application development principle? 

A. Segmentation 

B. Containerization 

C. Virtualization 

D. Service Virtualization 

Correct Answer: B 

Reference: https://www.ibm.com/cloud/learn/cloud-native 

 

QUESTION 5

An organization wants to replace several legacy applications with an IBM Cloud platform service. They 

need to ingest information using the MQTT protocol, present information on dashboards and apply 

machine learning to detect trends. 

What IBM Cloud service should the organization use? 

A. The Node-Red starter kit 

B. The Node.js Express starter kit 

C. Internet of Things (IoT) platform 

D. Watson OpenScale 

Correct Answer: C 

Reference: https://developer.ibm.com/technologies/iot/tutorials/iot-lp301-iot-manage-data/ 

Latest C1000-083 Dumps C1000-083 PDF Dumps C1000-083 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest C1000-083 Dumps | C1000-083 PDF Dumps | C1000-083 Braindumps                                3 / 3

https://www.geekcert.com/c1000-083.html
https://www.geekcert.com/c1000-083.html
https://www.geekcert.com/c1000-083.html
http://www.tcpdf.org
https://www.geekcert.com/c1000-083.html
https://www.geekcert.com/c1000-083.html
https://www.geekcert.com/c1000-083.html

